Assembly Sheet
T-3565 BRFAKFAST STOOL

'NO.| lllustration | Description |[QTY/QTE|NO.| 1lilustration | Description |QTY/QTE
4| &= shelf R \ Legs 2
- N : cross brace
- N P 2 D N (with holes) 2
E (o screw M6%12| 1§ F (o scrw M6%40 4
I G o aleen keyd¥4 1

;(E)insert the cross brace(C&D; to the legs(B) with screw E

=2\ N
-y
==

i

E{:)Attach the shelf to the metal body and tighten with scrw F




Assembly Sheet

T-3565 BRFAKFAST TABLE

plastic caps H

NO. | 1llustration | Description |QTY/QTE|NO. | l1llustration | Description |QTY/QTE
A shelf 1 B N legs 9
cross brace
C ™~ cross brace 1 D Ny (with hole) )
E (o screw M6%12, 19 F a2 screw M6*x40| 4
aleen key 25%95

b -~ 4x4 ! f e plastic caps i

insert the cross brace(C&D) to the legs(B) with screw E, rf_lr] plug with the




Yeuille D assemblage
(T- 3565 TABOURET DE PETIT DEIEUNER |

fon _Description [QTY/QTEINO. | 11lustration | Description |QTY/QTE
Etagere | 1 B

jambes 2

C. i N cross brace i D {avec trous)

Vis M6*40
25%25
bouchons en |

& D Inserer fa traverse {C & D) sur les pieds (B) aves la vis E, et Ia fiche avec_Plastigue
h les bouchonsen plastigue H i

12 i F

PR

B . - Vis M6*12

o /|
g‘)
@
g
fahe]

G| (e

G s Aeenclé4s | 1- | H

\
\\
A\

i
K -f’l'/',(/ % #:-ﬂt' :'E-‘
S o g 3
: N\ A
s Pt L
d i L
Et # i gs-‘é?ﬁ ' %
A v

e Prarmae




Feuille I assemblage
[7- 3565 TABOURET DE PETIT DEJEUNER |

NO. | 1llustration | Description |QTY/QTE|NO. | 11 lustration | Deseription (QTY/QTE

I s Etagére 1 | B E jambe 2
i Ny cross brace 9 D N )
E (= VisMs*12 ¢ 16 | P (e Vis ME*40 4
L G ,) clé Allen 4*4 1
@

1 inséref iz traverse (C&D) sur les pieds (B) aveclavis E

o

%

BEE N S

@ Fixer leplateau sur le corps métallique ol serrsr aven fa vis F

.
S, ¥y
Tacerrrara. o B et
A e
: S o
e
a7k
. b
- g
-




